Willard Middle School – Mathematics

Summative Test – Power Standards:  7.1 and 7.2 

Name ________________________________________________________Hour _________

1. Which of the following correctly compares the numbers?

a. 4 ⅕ > 4.5

b. 0.37 = 37 %

c. 3.21 ≤ 3.2

d. ⅔  > ⁴⁄₆

2. Which of the following correctly orders the rational numbers from least to greatest?

a. 5.0, 5.01, 5.001, 5.0001

b. 5.001, 5.01, 5.0, 5.0001

c. 5.0001, 5.001, 5.01, 5.0

d. 5.01, 5.0, 5.0001, 5.001

3. Which of the following numbers would be placed between 2 and 3 on a number line?

a.  .23

b. 1.23

c. 1.3

d. 2.13

4. Which of the following is a true statement?

a.  When adding two integers with different signs, the solution will always be negative.

b. When multiplying two positive integers, the solution will always be positive.

c. When subtracting a negative number from another negative number, the solution will always be negative.

d.  When dividing two negative integers, the solution will always be negative.

5. Which of the following statements is true for the problem 9 + -21?

a.  The sum will be positive because the 1st addend is positive.

b. The sum will be negative because the addends have different signs.

c. The sum will be negative because the addend with the greatest absolute value is negative.

d.  The sum will be positive because the problem requires addition.

6. The following problem is an example of which property?

18 · 1 = 18

a. commutative

b. associative

c. identity

d. distributive

7. What is the best estimate for 
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?
a. 9

b. 10

c. 11

d. 12

8. Which is equivalent to 3 (-5 – 5)?

a.  -15 – 15

b. -15 + 15

c. -15 – 5

d. 15 – 15

9. What is the first step in the problem

9 + 23 + (11-3)(4÷2)?

a.  9 + 23

b. 23 + (11-3)

c. (11-3)(4÷2)
d. Either (11-3) or (4÷2)

10.   In which situation would it be most appropriate to use mL3 as a unit of measure?

a. area of a box of paper clips

b. volume of a petri dish

c. volume of a milk carton

d. area of a desk

11.   3.2 g =____________kg

a. 3,200

b. .0032

c. .032

d. 32,000

12.    5.2 mm3= ____________m3
a. .052

b. 5.20

c. .0000000052

d. 5.20000000

13.   15 gal =_____________ pints

a. 40

b. 60

c. 100

d. 120

14.   108 ft3=__________yd3
a. 4

b. 2,916

c. 36

d. 324
       15.  45 + -21 =

             a. -24

            b.  24

            c. 66

            d. -66

     16.   Which of the following problems has a positive answer?

            a.  45 ÷ -9

            b.  -99 ÷ -11 ÷ 3

            c.  -54 ÷ 6

           d.   -36 ÷ -4 ÷ -9
